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INSTRUCTIONS / frdr

1.

Examinee are required to answers in their own words as far as practicable.

qeeff JUTEYd 319 eal H B IR < |

This question papers have four sections: A, B, C and D. Total number of questions
are 52.

9 USYS § IR WUS —A,B,C Ud D & | el UT DI H&AT 52 © |

There are 30 Multiple Choice Questions in the Section A. Four options are given for
each question, choose one of the correct options.

Gus A ¥ FHdl 30 GAGAT U B | IS U & IR fadwed fay 1w € s+
I U A8l Aoy &1 Tag= ST |

Section B — Question numbers 31 — 38 are very short answer type. Answer any six
of these questions. Each question carries 2 marks.

Gus B # U WEAT 31 — 38 I ofg I U © | 5 W fH=l v yAl
@ IR ANIT | IS T4 &1 A 2 3w FeiRa g |

Section C — Question numbers 39 — 46 are short answer type. Answer any six of
these questions. Each question carries 3 marks.

QUS C H U9 AT 39 — 46 oY ST UH ¢ | I o fH<l B Ul @
IR ST | ISP U9 T 919 3 3 [HeiRd 2|

Section D — Question numbers 47 — 52 are long answer type. Answer any four of
these questions. Each question carries 5 marks.

WUE D H U AT 47 — 52 < SO U 2| 398 9 R IR uvA &
IR ST | TP U T 9149 5 3 [HeiRd 2|
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Section-A (@vs-®) (1 x 30 = 30)
1. P(X)=x?-27 & A& & —

The zeroes of P(x) = x2-27 are

A. +9V3 B. + 3V3 C. +7V3 D. +3
2. AR frl wgue 1 We X — el w1 A feige wowfowwe war ', A osEd fRad
B 87

If the graph of a polynomial intersects the x - axis at three points, how many
zeros does it have?
A. 3 B.2 C.4 D. 3% #fs/more than 3

3. 3 ufEy demedl & 9 fhadt ufme d@en & wedt 22
How many rational numbers can there be between two rational numbers?
A 1 B. 2 C.3 D. s#a/infinite
4. I itk T genstt w1 HCF (@, @)= & 2
What will be the HCF of two consecutive even numbers?
A1 B.2 C.3 D.5
5. & =0 x,yH o wflwwor ax +by+c=0% fhad iferaw g wwa 22
How many maximum solutions are possible to the linear equation ax+by+c=0
in two variables x, y?
A 1 B.2 C.s@fma/infinite D.s# & ®E 78/ None of these
6.  ommd e gW W EfUe Wl s g €2
What are the lines represented by inconsistent pairs of equations?
A, wfresd B. wmmiax C. wurdt D.sw @ =5
7. x*-3x+2=0 F ™ A &—
x? —3x+ 2 = 0 has aroot
A. 0O B.-1 C.2 D.-2
8. @ wmar foww eMmemes quies §iq shifeig, R @t @ A 290 ®
Find two consecutive odd positive integers whose sum of squares is 290.
A. 1517 B. 9,11 C. 13,15 D., 11,13
9. freafafes & =9 AP, (TaEic ooft) § 2

Who among the following is A.P. ( arithematic progression)

A. 248,16....... B.1,3,9,27.........
C.-10,-6,-2, 2..... D.1,4,9,16,25.........
10. 1,4,7,10......... * 184 Ug & UH B—
The value of 18th term of 1,4,7,10......... 18
A. 50 B. 45 C.52 D. 35
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

q wHET Bl % &kl T U 16:9 7, A Ikl WA SISl T U@ T Y
If the ratio of the areas of two similar triangles is 16:9, then what will be the ratio of
their corresponding sides?

A. 23 B. 3:4 C.4:3 D. 9:16
guEgdst % fosl 6 cm 3t 8 cm®, gEhl ToIE o T s Ehlt —

The diagonals of the rhombus are 6 cm and 8 cm. The length of each side will be

A. 9cm B. 4cm C. 5cm D. 7cm
a1 el o Widwwdl g w1 M FEd T

A. i B. @@ C. fdwis a1 D.sw & 1§ =&
What is the point of intersection of two axes called?

A. Coordinate  B. Origin  C. Coordinate axis D. None of these

Y- & 5 g gW R X -a W owF fog PfRed 2, a1 fag P % fcwm® 3
There are 5 unit pairs from the Y-axis and a point P is located on the X-axis. Then the
coordinates of point P are

A. (5,0) B.(0, 5) C. (5,-5) D. (-5, 5)
afs SinA=% @ CosecA® HH T
If Sin A = % then the value of Cosec A will be

A. 4/3 B. % C. 3/5 D.5/4
(SecA+TanA) (1 —Sin A) st=t 2 (equal to)
A. SinA B. Cos A C.SecA D. Cosec A

A tanA=V3 @ A% WH F M-
If tan A = V3 then what will be the value of A
A. 90° B. 60° C.45° D. 30°
S fret WY e @i f SR AR W Fes SeR BLAT g H SRE HO AH
TT—
The angle of elevation of the Sun when the shadow of an upright pillar and its height

are equal.

A. 30° B. 45° C. 60° D. 90°
e T S P A
How many degrees is the angle of a semicircle?

A. 45° B. 30° C. 60° D.90°

=T 31 AT o6 T o T G ST BISATST o ANT o o & AT SehT IS Tw Tarat shi weea gnfi—

If the distance between the centers of two circles is equal to the sum of their radii,
then the number of their common tangent lines will be —
A. 1 B. 2 C. 3 D. 4
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

T o ohe § G ST AT H -
Chords equidistant from the center of the circle are —

A. sWAE unequal
B. ®wAE equal
C. A 3R B 3 Both A and B

D. wufismadrd All of the answers are correct

&1 It o TR 1 SIJATG 8: 27 21 ITeh I8 &Tthed ohT STFHTd BT —

The ratio of the volumes of two spheres is 8 : 27. The ratio of their surface areas will
be —
A. 2 3 B. 4 : 7 c. 8 : 9 D. 4 : 9

TRet TTTcT T IR &heT 144n @ @ Hi ®, o Skt Brsar -

The curved surface area of a sphere is 144w square cm then its radius is —

A. 6cm B. 8cm C.12cm D.10cm
e foeeh ol IoTer W ford o1 hl urfRiehar @—
The probability of getting heads when tossing a coin is —
A. 1 B. s C.0 D.s8 @ sE78 none of these

ffard wrer R wiReRar St 8-

The probability of a sure event is —
A. 0 B. % C. % D.1

Teh U1 h1 ISTAT STl & o 99 H&AT 37 ot TTfrehdr 23—

If a dice is tossed then the probability of getting an even number is
A. » B. g C. Y D. O

Ifd x+2 , 3x AN 4x+1 GAHE 90 § & @ x K1 HE FT QAR
If x+2, 3x and 4x+1 are in arithmetic progression then what will be the value of x?
A. 1 B. 2 c. 3 D. 4
g 6,8,9,x AT 13 & HEA 10 & @ x H HE FAT @ 2
If the mean of 6,8,9,x and 13 is 10, then what will be the value of x?
A. 12 B. 13 c. 14 D. 15
2,6,4,50,2,1,3, 2% aga% o
The mode of 2,6,4,5,0,2,1,3,21s
A. 2 B.3 C.6 D. 1
8,7,12, 15,10, 9, 11 & uftesrt grfl|
The median of 8, 7, 12, 15, 10, 9, 11 will be.
A. 10 B. 11 C.9 D. @ #E 7fi/ None of these
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

Section-B (@rs-Q) (2% 6=12)

AT 6 HX 20 o ST eSS [ & HCF 3R LCM 31d i |

Find HCF and LCM of numbers 6 and 20 by prime factorization method.

feema wfieRor x? —7x + 12 % A @ AT |

Find the zeros of the quadratic equation x? — 7x + 12

Th WY % AT R e W % SO H V3 T R gd o S R fed |

The length of the shadow of a pillar is V3 times the height of the pillar. Find the angle
of elevation of the Sun.

AP &7 98T Ug 2 3R 979 3 3 21 a1 8 af ue I hifswl
If the first term of AP is 2 and common difference is 3 then find the 8th term.

28cm A ATt SRR A 1 HISH Teh o ST AT 2, 1 a1 o6l 3T T TielTg 1 it

A square is made by bending a circular wire of radius 28cm. Find the length of the
side of the square.

A R(5,6) FgATA(6,5) WB(4,y)s fiam ac @rds AB Fiaa-fagddy &
CIEEIGECIIE R

If R(5, 6) is the mid-point of the line segment AB joining the points A(6, 5) and
B(4, y), then find the value of y.

fe TRTRT AT TS 60 ° & TAT ITH S aTel & ohl ST 3h1 el 2 0m. &1 el & ol elTs T &t 2
If the height of the lights is 60° and the length of the shadow formed by them is 20m,
then what will be the height of the pillar?

afe foreft B o forehol st TS 6V3 cm 2, T 3k 60T I53 T &%l T BT 2

If the length of the diagonal of a cube is 6\3 cm, then what will be the area of its
entire surface?

Section-C (@vs-7) (3x 6 =18)
fog = 2w smimw wew g
Prove that V2 is an irrational number.

2Cosec?30° + xSin%60° = 10 , X T A Jd hifs@
2Cosec? 30° + xSin?60° = 10, Find the value of x.

FT A, P. (@uHiR goft) 11,8,5,2 ....... FTH UG -1508, FM? TA R
Is one term of an A.P(Arithematic Progression) 11,8,5,2........ -150, why? Solve
it and tell.
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42, TF IA H 3 AT R 5 FHE N T W IA H W TH NG AGTSAT [Hehred! Sl R
TH WRERAT | g TR e A ' o2
There are 3 red and 5 black balls in a bag. One ball is drawn at random from this
bag. What is the probability that the ball is red?

43.  3Ffe Hr= & g sd @ weaw 28.5 B A X R y & AW I AT
If the median of the distribution given below is 28.5, then find the values of x

and y.
Fii— e (Class Interval) it (Frequency)
0-10 5
10-20 X
20-30 20
30-40 15
40-50 Y
50-60 5
Total 60

44, wfn % s fg & W dEW % we- feg @ 30 W B g w2, dR ¥ e
H I HOT 30° 7 HAR I HErE J@ A |

From a point on the ground, which is 30 meters away from the foot of the tower,
the angle of elevation of the top of the tower is 30°. Find the height of the tower.

45. 9 7 W A UF TR otk % SW T SWEn Wl g B e e &
AMhay I P W HhRdl 87 IH YRR SH I H YT &FA%A J@ iRl (TT=22/7)
A hemisphere is placed on a cubical block of side 7 cm. What can be the maximum
diameter of a hemisphere? Find the surface area of the solid thus formed. (n=22/7)

46. afe fog (1,2),(4,y), (X, 6) 3R (3,5)s8 0 4 o W Th WAMIQ IS &
i & @ X3 y g Fie)

If the points (1, 2), (4, y), (x, 6) and (3, 5) taken in that order are the vertices of a
parallelogram, then find x and y.

Section-D (@vs-9) (5 x 4 = 20)

47. tw 3W H, H=g 120 ¥l R Bewm 60 Tl aenm uw viF @A @, S 60 @
e A T e M W ARG 2 3 3™ FHOIEl ¥ W T TH degdd oo H
™ TR W9 S fear ST § fF ag Sad o aelt R wU A oo s e
60uHt 3R F=rg 180 Tt B af Jod W TN ST UMY 1 A™GA FIa shiteRn (T1=22/7 )
A solid consists of a cone of height 120 cm and radius 60 cm, which is
superimposed on a hemisphere of radius 60 cm. This solid is put straight into a
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48.

49.

50.

51.

52.

vertical circular cylinder filled with water in such a way that it touches the bottom
of the cylinder. If the radius of the cylinder is 60 cm and height is 180 ¢cm then find
the volume of water remaining in the cylinder. (n=22/7)

TF Hur TeEE HMR % 96 9@ ST 8l AR ok Rl W @l TE AEH U HR R
30° % AT ®O W @Al § S fF MR % Ug H IR TH GHH I § =wdT

2 B UKS @ FR HN FIAHT KT 60° & TN 3@ foig ¥ AARF IR TH uged

M q I ISR

A direct highway leads to the foot of the tower. A man standing at the top of a tower

observes a car at an angle of depression of 30° moving at a uniform speed towards
the foot of the tower. After six seconds the angle of depression of the car became 60°.
Find the time taken to reach the foot of the tower from this point.

fag il o6 el amr fog @ foet g9 @ diet 7 wel el & st &1 s wE
figafl 1 fiem o W Ee S R W AR w0 kT W@ BT R

Prove that the angle between tangents drawn to a circle from an external point

complements the angle subtended at the centre by the line segment joining the

tangent points.

wEE Sec?Ad =1+ ta’A F WMEF fog Aw fpilasesdtl 1
SinA+CosA— SecA—-tanA

Prove that SnA-Cosatl using inequality Sec?4 = 1+ ta?4A.

sinA+CosA-1  SecA—tanA
T agds ABCD ¥ famof wom fiig O w 30 wom sfede w00 & 5 2=
2 awigw fF  ABCD U# @dcidl =i 2

The diagonals of a quadrilateral ABCD intersect each other at the point O such that
AO/BO=CO/OD. Show that ABCD is a trapezium.

w Rl ¥ o owew % Rl o @ A g wA R ded A s R
o & T oot § e foRem Onoft § fum yoes dwor 3 fiMe % SfaUar W SH W 9§
TR I ATt HE Rl Hemelt @ Hefyd § | W 100 auar W Yaw faw Moo .
el BT Sgerh FIA IS

A student noted the number of cars passing through a certain place on a road and
expressed them in the table given below. Each dispatch given in the table
corresponds to the number of cars passing through that location in an interval of 3
minutes. Observations were taken at 100 such intervals. Find the mode of these data.
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FN AT dE smafa

0-10 7

10-20 14

20-30 13

30- 40 12

40-50 20

50-60 11

60-70 15

70-80 08

Answer - Key

Q.N. 1 2 3 4 5 6 7 9 10
Key B A D B C B C D C C
QN. | 11 12 13 14 15 16 17 18 19 20
Key | C C B A A |B B B D C
QN. | 21 22 23 24 25 26 27 28 29 30
Key B A A B D A C C A A
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ARGUS Afare srTuTT Ue nfdreror ufwg, T
Model Question Paper 2024-25
Class X Science ®&1T -X fasm=
Max. Marks: 80 Time Allowed: 3 hours
AT forder:
i. 39 U UF H 4 TSl H PoT 46 T B

i, Y Sr8r AT 81 BTeifep, B Ul A TR (e AT 7T 81 Ueb BT & V&I b STl &
o & ST & hereT Ueb T4l bl IR <

iii. TS A H 30 T8 YBR b T4 &, FFTH F Tedeh 1 37 T 6

iv. TS B H 6 3] oTg U4 &, S A Ucdeh 02 3ieh T &

V. TS C H 6 oTE ITNIT ThR P U4 &, S A Ucdeb 03 3ieh T &
vi. @S D H 4 S ITRIT YR D 7% &, 577 A I 05 3ieh b 2
General Instructions:

i. This question paper consists of 46 questions in 4 sections.

ii. All questions are compulsory. However, an internal choice is provided in some

questions. A student is expected to attempt only one of these questions.

iii. Section A consists of 30 objective type questions carrying 1 mark each.

iv. Section B consists of 6 Very Short questions carrying 02 marks each.

v. Section C consists of 6 Short Answer type questions carrying 03 marks each.

vi. Section D consists of 4 Long Answer type questions carrying 05 marks each.

Ts-A Section-A
75 1 - 30 9 W I @ forq fg QAR ferepedt 7 9 ekt Sueh farded @ a3 ford e
SR & foTY DI THRICHD 3T TE 81
Select and write the most appropriate option out of the four options given for each of the
questions 1 - 30. There is no negative mark for incorrect response

Q. Nos. U4 QUESTIONS MARKS

1. FreforRaa & F i Y arfyfehar Syeamendt arfifehar 82 1
a) DIl BT =T




b) FRGTeT YTl BT WIS & e

c) &I & ufehar

d) PIeeRH BECT BT ATHCT PR TGN AT 3R DI SILATTATES T
Which of the following reactions is an endothermic reaction?

a) Burning of coal

b) Decomposition of vegetable matter into compost

c) Process of respiration

d) Decomposition of calcium carbonate to form quick lime and carbon dioxide

Y aTel ST BTG Io FeiRTSS I CRIR < & SRM, T BT 3R TR $ietRIT FARTES Joh TS od A
TSTRT T 81 RS g H fofT Y Sfcerye FilkTgs i e &

a) S T BT ey =T

b) =T T 7 BT

c) T & =Y P raenfig dAT

d) SR I & TR TR T TGN B_AT

During the preparation of hydrogen chloride gas on a humid day, the gas is usually passed

through the guard tube containing calcium chloride. the role of calcium chloride taken in the
guard tube is to
a) Absorb the evolved gas
b) moisten the gas
¢) Absorb moisture from the gas
)

d) Absorb chlorine ions from the evolved gas

FrAfREe o ¥ I AT THIIATT 0N 5 &l T Il &7
a) IR I 7 IR

b) --CH, 3iR 14u 3MMUTfIE G & 3feR
SRINERRIREILCI

d) T BRI g

Which of the following is not observed in a homologous series?
a) change in chemical properties

b) The difference in --CH,and 14 u molecular mass

c) Gradation in physical properties

d) Same functional group

frferRaa = & i 4t fefawermoe sififear &2

i) Pb + CuCl, — PbCI, + Cu

ii) Na, SO, + BaCl, — BaSO, + 2NaCl
)C+0,— CO,

iv) CH,+ 20, — CO, + 2H,0

a) (i) 3R (iv)

b) e (ii)

c) (i) 3R (ii)

d) (iii) 37X (iv)

Which among the following is(are) double displacement reaction(s)?
(i) Pb + CuCl, — PbCI, + Cu

ii) Na, SO, + BaCl, — BaSO, + 2NaCl

C+0,—CO,

CH, +20, — CO, + 2H,0

(i) and (iv)

(ii) only

—~ o e~ =

(

(iii)
(iv)
(a)
(b)




(c) (i) and (ii)
(d) (iii) and (iv)

STt T T STTEe U JTEre S1T1haT &1 STeT b (el JTEe P QR b 81 dTell BTgIoM
3R 3iTerAIST TAT T AT SR &

(a)1:1

(b) 2:1

(c) 4:1

(d)1:2

Electrolysis of water is a decomposition reaction. The mole ratio of hydrogen and oxygen
gases liberated during electrolysis of water is

(a) 1:1

(b) 2:1

(c) 41

(d) 1:2

T ST ENeT SATeT TN Bl T —ieTT X ol 81 fFoiRad & & fohsT Biet @ 31feres J1ar 3
firetr & g yRaciH Sele STem?

(a) ST USER

(b) ZT

(c) IR BTSSaITSS Bl

(CEESERITEANES

An aqueous solution turns red litmus solution blue. Excess addition of which of the following

solution would reverse the change?
(a) Baking powder

(b) Lime

(c) Ammonium hydroxide solution
(d) Hydrochloric acid

BT ISR BT T TIceh AT ETZGIST PIEMT &, QAR IS &
a) EEGITANRS TRie

b) erERa TRrs

c) tfafess thie

d) FeRgRe TS

One of the constituents of baking powder is sodium hydrogen carbonate, the other

(
(
(
(

constituent is

(a) hydrochloric acid
(b) tartaric acid

(c) acetic acid

(d) sulphuric acid

ET3T T TR Uciel TR H It Y & bl T Bed &
(a) I=IdT

(EIPISEIZEI

(c) eafr g

(d) dTetehdT

The ability of metals to be drawn into thin wire is known as
(a) ductility

(b) malleability

(c) sonorous

(d) conductivity

fFr=feRad & Q B 3TRIfep A 8T 872
(i) KCI (ii) HCI (iii) CClI, (iv) NaCl

(a) (i) 3R (ii)

(b) (i) 37 (iii)




(c) (i) 3R (iv)

(d) (i) 3R (i)

Which of the following are not ionic compounds?
(i) KCI (ii) HCI (iii) CCl, (iv) NaCl

(a) (i) and (ii)

(b) (ii) and (iii)

(c) (i) and (iv)

(d) (i) and (iii)

10.

ferfeRee # < e iffies ¥ —OH Prifee g 22

(a) A

(b) et

(c) g 37T

(d) &I

In which of the following compounds, — OH is the functional group?
(a) Butanone

(b) Butanol

(c) Butanoic acid

(d) Butanal

11.

Jifid CH, — CH, — CHO &AM &

(a) AT

(b) FTIA

(c) e

(d) §FeT

The name of the compound CH, — CH, — CHO is
(a) Propanal

(b) Propanone

(c) Ethanol

(d) Ethanal

12.

3MMER Feit & {5y ATRT & IS ot SAferT UTer BXelT 82

(a) MHR™T

(b) 8 T&T

OESIEIS]

(d) BIST 31T

In which part of the alimentary canal food is finally digested?
(a) Stomach

(b) Mouth cavity

(c) Large intestine

(d) Small intestine

13.

a) ATl 3R TR

b) s ¢ TfeaTelt

¢) Ufeairett iR Ter

d) T 3fR T

During respiration exchange of gases take place in

(
(
(
(

(a) trachea and larynx
(b) alveoli of lungs

(c) alveoli and throat
(d) throat and larynx

14.

RIS & IR H (FFTCTRIT J A DI AT DB T 57 (i) RIS BT G Ara dTell |17 78
HRTSD B (i) e, e, TIcT, ¥ 31fe & b a1y AfkTses 7 Reere 81 (i) TR, I, Ihard St
e fehad oy ARETS® H R Agat gRT FRIFAT Bidlt 81 (iv) AR SRR 6 53T 3R FerT




&1 PRI 78T aar 2l

(a) (i) 3T (ii)

(b) (), (i) 3 (i)

() (ii) 3R (iii)

(d) (iii) 3R (iv)

Which of the following statements are true about the brain? (i) The main thinking part of
brain is hind brain (ii) Centres of hearing, smell, memory, sight etc are located in fore brain.
(iii) Involuntary actions like salivation, vomiting, blood pressure are controlled by the
medulla in the hind brain (iv) Cerebellum does not control posture and balance of the body
(a) (i) and (ii)

(b) (i), (i) and (iii)

(c) (ii) and (iii)

(d) (iii) and (iv)

15.

ST SIS BT TAIT BY

a) TSTerS: fUegest 4fy
b) SRR guur

¢) TRCIS: 3TSTerRT

d) ARRIFET: ARRTS Afer
Select the mis-matched pair

(
(
(
(

(a) Adrenaline: Pituitary gland
(b) Testosterone: Testes

(c) Estrogen : Ovary

(d) Thyroxin: Thyroid gland

16.

Tep thef H, 7R 3R HIGT JiHe (3HRUT DIfADIY) Ieq~T e alel HFT &

In a flower, the parts that produce male and female gametes (germ cells) are
a) stamen and anther

b) filament and stigma

c) anther and ovary

d) stamen and style

17.

3rfiaT, TTSRITRRT 37 AT & Ui+ &Y U A= [T I8 & fs

(a) T 3eifieh BT I TT I &

(b) T T THDITAHRT &

(c) I Fet ifiehs T J Ui vl &

(d) I Tt IgITRIHIT &

A feature of reproduction that is common to Amoeba, Spirogyra and Yeast is that
a) they reproduce asexually

b) they are all unicellular

c) they reproduce only sexually

d) they are all multicellular

(
(
(
(

18.

T ST TS AT H A I AGTUT BT I D (0T TN (AT ST ADT & e AR 5 &Y el
a) 3TRET &7 FT

b) =T T T

c) IRR BT MHR

d) aTalt T gPfer

From the list given below, select the character which can be acquired but not inherited

(a) colour of eye

(b) colour of skin

(
(
(
(




(c) size of body
(d) nature of hair

19. TITpeiep A GRT ST b fefepT 2T ATt feram T o
(a) HSeT
(b) ST
(c) °F
(d) JHTH
The theory of evolution of species by natural selection was given by
(a) Mendel
(b) Darwin
(c) Morgan
(d) Lamarck
20. frfetRad 5 & $I AT $2F T 872
(a) e STl & o 4 SRITCR 1fh Bl & FTaehT thiepd g3 0.25 HieR &Il &
(b) e STl & H —4 SITCX 1feh Bl & T thiepst g1 0.25 HieR &Il &
(c) Ueb 37arciel ol A 4 SAITeR 2feh Bldil & frqeh! thiepdt g3t 0.25 HicR &t &
(d) &b JFeTeT o 5 —4 SRR Afeh &Il & forAehT iehet ¥ 0.25 HIeR Bt &
Which of the following statements is true?
(a) A convex lens has 4 dioptre power having a focal length 0.25 m
(b) A convex lens has —4 dioptre power having a focal length 0.25 m
(c) A concave lens has 4 dioptre power having a focal length 0.25 m
(d) A concave lens has —4 dioptre power having a focal length 0.25 m
21. FrTfetRae o & febe, a1t U= R 15 av] bl Wfcifad Sfedfifes BT 1R g SATDR T &2
(a) det 3rader ST
(b) et et YT
(c) PaeT I ol
(d) 31Tt YT, I SUUT, NI i 3R STl kT
In which of the following, the image of an object placed at infinity will be highly diminished
and point sized?
(a) Concave mirror only
(b) Convex mirror only
(c) Convex lens only
(d) Concave mirror, convex mirror, concave lens and convex lens
22, TP efeh 2 HIeR & 31fee g3 IR T a3 bl T U ¥ &1 oxg Febell 8 9 &Y el (= &l
& oI BT JUANT RSP SN BT ST el &
(a)+0.5D
(b)—0.5D
(c)+0.2D
(d)-02D
A person cannot see distinctly objects kept beyond 2 m. This defect can be corrected by
using a lens of power
(a)+0.5D
(b)—0.5D
(c)+0.2D
(d)-0.2D
23. TGHTeT T FR=ITeTRAT H 3 P AT BTG SSEY b (FHT0T 7 Qe 87

(a) URTECHT, 3T9ac 317 farargor

(b) 3raacH, f&raur 3R quf aridRes wRrac
(c) 3, faegur 3R 3rafe dRrad
(d) feréraror, HrebTofT 37R Ut a7iciRe wRrai

Which of the following phenomena of light are involved in the formation of a rainbow?




(a) Reflection, refraction and dispersion

(b) Refraction, dispersion and total internal reflection
(c) Refraction, dispersion and internal reflection

(

d) Dispersion, scattering and total internal reflection

24.

1/5 Q) gTer 4T FRTEDT BT ST HRP DIH-AT AT HICRTE SHRIT ST el 87

) 1/5 Q

(b) 1/25 Q

(c) 1710 Q

d25Q

What is the minimum resistance which can be made using five resistors each of 1/5 Q-
@) 1/5 Q

(b) 1725 Q

() 110 Q
d25Q

25.

JieRIEdHdT Tal saar 1S

a) UeTef g8 f S

b) AT &t f&ar S

¢) UfRIED T 3MHR g5t T Sy
d) ueref 37k T ST sget Y ST

The resistivity does not change if

(
(
(
(

(a) the material is changed

(b) the temperature is changed

(c) the shape of the resistor is changed

(d) both material and temperature are changed

26.

et e T

(a) TR T ST 8T T For DR &Y Y R I T U AR e &

(b) STIT T2 BT SFST 17 ERT 2T ST alel <ATeTeb P HRVT GIDbIT & T T ST P o foTd STIRT
[ERISIIN

(c) vIer 3R TeTaiT RT3 & e SiaR IE & fob Herer &Ry S92 Uep fom & & &, Siafds Sera e
FHI-FHI IR 37T e Sete et &

(d) IR F, T (SeTarci €RT) & 1/50 Hebs & 91 {97 ageAdt &

Choose the incorrect statement

(a) Fleming's right-hand rule is a simple rule to know the direction of induced current

(b) The right-hand thumb rule is used to find the direction of magnetic fields due to current
carrying conductors

(c) The difference between the direct and alternating currents is that the direct current
always flows in one direction, whereas the alternating current reverses its direction
periodically

(d) In India, the AC changes direction after every 1 /50 second

27.

ERT IUBRUN T QT TfDC AT ATARANST A Tl o [T FRRIATS T ST Tl e Hecaquy Gear fafy &
(a) ST (qET)

(b) TRIST BT STIRT

(C) TSR BT SUART

(d) Seifere e & Suan

The most important safety method used for protecting home appliances from short circuiting

or overloading is
(a
(b
(c
d

earthing
use of fuse
use of stabilizers

—_— = =

use of electric meter




28.

et ferege o A

(a) FUfET Set BT Referst Fort ! farega # fvafcr o S &

b) Fufed St &t feret 5wt T Reerferet Saf 7 uRafia fasam S &
(c) STt & fireger Fieprelt et &

(d) =T S @R & fofT STt T 719 & aRafcia fhar S &

In a hydro power plant

(a) Potential energy possessed by stored water is converted into electricity

(b) Kinetic energy possessed by stored water is converted into potential energy
(c)
(d) Water is converted into steam to produce electricity

Electricity is extracted from water

20.

T ST S fATROT ST BT SUANT e AP THIDT A PIETETSST DT FHITIT IR &, S+ BaT ol &
(a) 3ECD

(b) ScUTEDH

(c) QTIEb‘I‘s’I'\jT

(d) ey

Organisms which synthesise carbohydrates from inorganic compounds using radiant
energy are called

(a) decomposers

(b) producers

(c) herbivores

(d) carnivores

30.

FIeT SfTTerT SIRT T TIT Hecaqut |aeT &

() I TRV TITRAT H TR BT QM1 AT

() T TRE0T AT H TR b ST BT

() frepraTeHes TcIfTRRIT & forw & gait T et

() TRBRY QIR T a1 7 aif BT T8 B BT T < BT FffaTg 31fRrpR &

The important message conveyed by the ‘Chipko Movement’ is

(a) to involve the community in forest conservation efforts

(b) to ignore the community in forest conservation efforts

(c) to cut down forest trees for developmental activities

(d) government agencies have the unquestionable right to order destruction of trees in
forests

@s-B Section-B
TS AT 31 9 36 ST oY ITT UM &

Question No. 31 to 36 are very short answer questions

31.

TP H TR F9e ob &1 G2 A T Tt a2 Il AHDT & AT S STel ATERYT T Pl el AT b
N JUANT foaT ST 82

List two main sources of common salt in nature? Name two compounds where common salt
is used as a raw material?

32.

DT AITDT bl TG 3T AT cIeal GIRT AT ST Y AITADT 3 3T &1 & HRUT AT 39
CREARY I
The number of carbon compounds is more than those formed by all other elements put
together. Justify the statement by giving two reasons.

OR 3T
SOITST BT TS 3T 7 AUTCRYT SATGATHRUT ST it T ST 87 397 AffndT 7 ugwh
SITRAHRUT Toie (e ) BT fIRau]
Why is the conversion of ethanol to ethanoic acid considered an oxidation reaction? Write
the oxidising agent used in the reaction involved.

33.

wegH febarefietd aell Ueb €T &1 AT IalTgU T HehISS 3R A 39 ETq b [SpuU[ b o]
S ICRUNCIRCY]




Name a metal of medium reactivity and write three main steps in the extraction of this metal
from its sulphide ore.

34.

IAS FAT 52 ThepIfIHRI STier ST 3TUT3TE ey qTex fHepler 872

What is excretion? How do unicellular organisms remove their wastes?

35.

TS P 3 BT oI (a) JIT (b) ST
Write two functions of each (a) Testis (b) Ovaries
OR T
IS HTST U9 < H (a) R (b) HelllUa S & Pl 3T Seord Bl
Mention the functions of (a) placenta (b) fallopian tube in the human female reproductive
system.

36.

9 ST a1 T TREVT T PRAT A2 T bl DTS b 107¢ [SFHER &l PR bl il Y|

Why must we conserve our forests? List two factors responsible for causing deforestation.

Ts- C Section-C
T WET 37 W 42 AY IR IH &
Question No. 37 to 42 are short answer questions

37.

Tep <ATT ST H 2 T [eaR FARTES [oRIT ST & 3R <131 (S27 1 6 T & (ol G Y
AT H RGT ST B S Al H MUDT faciiehT T 8RIT? S Mol IRIR—If~eh Uferfsham o
RAfofeT AR (+1eh |EHIepRUT b U ¥ foTd| ARIfep TfeifehaT o TepR & TgrerT e

2 g of silver chloride is taken in a china dish and the china dish is placed in sunlight for some

time. What will be your observation in this case? Write the chemical reaction involved in the
form of a balanced chemical equation. Identify the type of chemical reaction.

ORI
eI ATASHAT 9ea T AR el AT SYEIe iR I AT STIESH BT Th-Uh
SEIERUEISN
Define the term decomposition reaction. Give one example each of thermal decomposition
and electrolytic decomposition.

38.

HT: T HCL 3R NaOH fderrT g a1 RegierI A 3R B H wietl foTeh™ fder STefT T &1
TR IRt & T gfRerci= SRaT STQT? 7 gReciT STy 3R SHebT RUT Sy

Blue litmus solution is added to two test tubes A and B containing dilute HCL and NaOH
solutions respectively. In which test tube a colour change will be observed? State the colour
change and give its reason.

39.

o &7 eI Q AT bl TS (96T T FHSTSY

With the help of a diagram, explain cleansing action of soap.

40.

Heof 3 YN T Y U TheldT & [ 180T T v § R & el &2

How do Mendel’s experiment show that traits are inherited independently?

41.

10 Q, 15 Q, 3R 20 Q & 7 TRRIeS Ta ufvwer 3 fis & S gV &1 Ik 15 Q, feRres F
e fRrae (frataR) 3v &, ar aRuer  gRr 3fik 10 Q, fcRieres 3 favg fiRrae s KT
Three resistors of 10 Q 15 Q and 20 Q are connected in series in a circuit. If the potential
drop across the 15 Q resistor is 3V, find the current in the circuit and potential drop across
the 10 Q resistor.

OR AT
50,10 Q 3R 15 Q & I TfRIeD 2FeT 4 IS 57 & 3R FASH 30V H 33 F JoT g1 8
afépe 7 TR 3R dlecHicr IS §Y &) T SUBRUIT T Iferet 369 A SireH aTell U Afdhe 3R
F1g1 10 Q ufery 7 warfed e 3iR favaiaR @ 82
Three resistors of 5 Q 10 Q and 15 Q are connected in series and the combination is
connected to battery of a 30V. Ammeter and voltmeter are connected in the circuit.




Draw a circuit diagram connecting all the devices in proper correct order. What is the current

flowing and potential difference across 10 Q resistance?

42.

T b1 &1 H R HRIETe! ATete GRT AT fohdl R &t bl Tt FeiRey et & forg
TRh {1 BT AT, faleRuT oIt JeTeRuT Hied et Dyl
Name, state and explain with an example the rule used to determine the direction of force

experienced by a current carrying conductor placed in a uniform magnetic field.

Ws-D Section-D
U AT 43 W 46 Sf STRT Uy &

Question No. 43 to 46 are Long answer questions

43.

T g arffemaan ot IaTeRuN |fed FHST
(a) (i) BT ISHIRoT Ao
(i) SiTerTenvuT Srfrfehar
(b) AT TR AT DT ITchT AT 3R HOR STl H TPTS 3T P TR TR JT DIl
(C) ATSFATRIET T TRT SIS
Explain the given reactions with the examples

(a) (i) Hydrogenation reaction
(if) Oxidation reaction
(b) compare soaps and detergents on the basis of their composition and cleansing action in
hard water.
(c) Draw the structure of cyclohexane.

44,

(a) B UTET & UTT ST dTet Y07 & YR T TRET HINTY 3T 33 TehaT BT A1 918V | 37 Hfehar
P foTq STaeaes 75 AT DT el S1gYl SfeciRa Hisham & foTg rrifes Feftep=ur 1Tl

(b) 3 TfeRaT & SR & arett i sreAd frRau)

(a) Name the process and explain the type of nutrition found in green plants. List the new
materials required for this process. Give chemical equation for the mentioned process.

(b) Write three events that occur during this process.

45.

(a) AT ¥ fp=T HTETH H I PR UR 1T b <ATeT I H IR HI T ATt 81 STl &1 a1
HTUET I HIEH T AU ST hITTY?

(b) 3TUETID n, P UaTe A T el T Yeb Teld DI SAYAIID n,, b HTEAH N T T &1 Tl TR
Qe YepTeT fehwoT JMafera BielY 81 et T Tole i et areit TepeT vl & ey s=1d, It
(i) n,> n, (i) ny=n, (i) n,< n,
(a) On entering in a medium from air, the speed of light becomes half of its value in air. Find
the refractive index of that medium with respect to air?
(b) A glass slab made of material of refractive index n1 is kept in a medium of refractive
index n2. A light ray is incident on the slab. Draw the path of the rays of light emerging from
the glass slab, if
(i)n,>n, (i) n,=n, (i) n;<n,

ORIT
RN 30T Bl T o fofT s fadvsT & T 17| E¥aRaT fI9NsT =¥ 599 9237 & oy v
TN R T IUART 2]
(a) ORT T UPHHT 3R $HP ITINT BT HRYT I
(b) BT f4RINET DT i DT PEI EAN/IHST AR THeh I DT ARG 3R TST AT I1H
g
(c) UM S oikT T ichet X 10 T & 3TR oIk &l &l J 5 AT o & 0 T ST &, T wiferfaa
T R 3R SATBR ST BRT o [T ol o BT SHANT v

10



Rishabh went to a palmist to show his palm. The palmist used a special lens for this
purpose.

(a) state the nature of lens and reason for its use.

(b) Where should the palmist place/hold the lens so as to have a real and magnified image
of the object?

(c) If the focal length of this lens is 10 cm and the lens is hold at a distance of 5 cm from the
palm, use lens formula to find the position and size of the image.

46.

(@) SIS Ich TP BT ITITT AT I 57 BHIR STER H SRS bl HHT J 81 aTelt dTRT BT
AT JATSY 3R IHBT T T&I0T FATST
(@) IR F TARDT 3T fhT UHR I IR 572
(a) Why is the use of iodised salt advisable? Name the disease caused due to deficiency of
iodine in our diet and state its one symptom.
(b) How do nerve impulses travel in the body?

OR 3T
(@) IR T AT IV 3R I W FF=ATARIT I ofaet D
(i) SgTSC (FHeT)(il) PIRABT B (iii) ATHD(brsicp) (iv) T
(b) =R & NI} < AT FAI:
(i) ST&T T T e 2
(
(
(
(

if) ST HTE2r™ R T feeT ST & o0 H ITAT el &l
iii) STET % ST T JTRY TR & foTv I~ Hepet F aRRafdie fpam S anfaul
iv) RRHARGER Sierer (it Uefter |fer) ot afReaTfie v
a) Draw the structure of a neuron and label the following-on it:
(i) Dendrite (ii) Cell body (iii) Nucleus (iv) Axon
(b) Name the parts of a neuron:

(i) Where information is acquired.

(ii) Through which information travels as an electrical impulse.

(iii) Where this impulse must be converted into a chemical signal for onward
transmission.

(iv) Define neuromuscular junction.

11
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FREvS e srwaT vd aftrerr aReg,

3, sIRETS
ey IRIET-2024
HISTORY MODEL QUESTION
DHET -10 99T — TN e qurieh — 80 T — 3 EeT
CLASS-10 SUBJECT- Social Science Full Marks-80 TIME-3 HOUR
A fder -
> otermeff FeRiTg STo greal H IR &)
> Candidate should answer in their own words as much as possible.
> ot uy rfears &
> All Questions are compulsory.
> Pl Ul bl qET-52 Bl
> Total number of question is 52.
» U4 1§30 d Sgfipediy U4 &1 YD U P IR fdebey U MY &) WEl fepe b1 o bIforn Ui w4 o forq 01 3fep FefRa g
> Question No. 01 to 30 are multiple choice questions, each question has four options. Select the correct option. Each question carries 01 mark.
> UHAEAT-31 Y 38 e 31fc o7 IO T &l [ G febeel 6 T4l T IR ST JAa &1 Tedieh U4 T HI 2 37ep (FTeifRet &1
> Question numbers 31 to 38 are very short answer questions. Out of which itis mandatory to answer any 6 questions. Each question carries 02

marks.

T AT 39 V46 e oTe FTRI U & R 3 fopeel 6 W3l T SR 1 el &1 Tre T3 b1 H1H 3 3ep e &

Question numbers 39 to 46 are short answer questions. Out of which.itis mandatory to answer any 6 questions. Each question carries 03 marks.
T T 47 9 52 <ef ST U5 &) el 4 T BT Fax AT 1Rt 81 Uids U &1 A 5 1 FrefRa &

Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions. Each question carries 05 mark s.

YV VV V

1. BRI gifcr BT AT B e Who was the leader of the French Revolution?
a) TNfTT SFTITE a) Napoleon Bonaparte
b) AT forae JeftRR b) Maximilien Robespierre
c) 3 XVI c) Louis XVI
d) SISt S d) George Danton
2. SININAT shifcr hY e foRo o i Which of the following was the major feature of the French Revolution?
a) NEREEIRSIIEEI a) Establishment of monarchy
b) RIERCICACIRCRE b) End of feudalism
c) SIEINEISCIRSFY] c) Rise of imperialism
d) SIEREEIESE] d) Emergence of democracy
3. RAH TSI 3NMaIeTT BT T B 2072 Who was the leader of the Non-Cooperation movement in India?
a) HETCHT el a) Mahatma Gandhi
b) AR T80 b)  Jawaharlal Nehru
c) AN T I c) Subhas Chandra Bose
d) RISIKNISESEE) d) Lala Lajpat Rai
4. IR AT BRERT DT RATGAT [T hi? Who founded the Indian National Congress?
a) AT et a Mahatma Gandhi

)
) NEIGICEES) b) Jawaharlal Nehru
c) (OB RCICTARRE qH c) Allan Octavian Hume
) RIGIISESEE d) Lala Lajpat Rai



10.

1.

12.

13.

14.

Tl forer g b1 =g oRoT T oT?
a) A SR 3T
b) ST GRT UIS TR 3MMhHT
c) TSI 3R WY GRT 3UATS TS Ssildarsy —fer
d) S &I Uef 8R W gHeAT
TR JeHT R dgell IR S[e et S &t efi?

|
a) GRGFER TR
b)  <IoIT FTHIET I
c) TR AR

d) eI erRr
19 97 BT fABRT B dlet fSfeer anfaseRe P oF 2

a) Srqde
by RuS amdHIse
c)  USHS PrENIEe
d)  H3feT Teley
ST <febriTch ASRY Ugel el e gs?
a) HRT
by T
c) B
d T
it Mfde &Y ST e Y oft?
a) ST
b)  <IIT IFTHIET T
c) Rrari
d fReFe
HETT et 7 fo T T Jure fhar?
a) PEHRA
by Tl
c) el
d) feERr
AR BT TSI D §3T?
a) 1942
b) 1943
c) 1944
d) 1945
ST IR T YROSATT Pl §S?
a) 1951
by 1973
c) 1993
d) 2009
P IR & fTET 3 dheps B 7T 1fera it &2
a) ECIGT
b) TR
c) ofTef
d) [SAE
PIeAT FST fohef T & STTT ST7elr &2

a) \‘:IT*ﬁ’cS‘j?(T

Which of the following was the main cause of the world  war-11?

a) The Rise of Nazi Germany
b)  Germany’s Attack on Poland
c)  Compromise Policy adopted by Britain and France
d)  Japanese attack on Pearl Harbor
Which Indian entrepreneur established the firstJute mill?
a) Dwarkanath Tagore

O

) Raja Ram Mohan Roy
) Dadabhai Naoroji
) Jamshedji Tata

Q O

Who was the British Inventor of Steam Engine?
a) James Watt
b) Richard Arkwright
c¢)  Edmund Cartwright
d)  Samuel Stater
Where did the printing technology first develop?

a) India

b)  China
c) France
d) Europe

Who authored the book ‘Geet Govind'?
a). Jayadeva
b)  Raja Rammohan Rai
c)  Shivani
d)  Vivekanand
Which Journal was edited by Mahatma Gandhi?
a) Commonweal
b)  Young India

c) Bengali
d) Bihari
When did the Quit India movement take place?
a) 1942
b) 1943
c) 1944
d) 1945
In which year was ‘Project Tiger’ launched?
a) 1951
b) 1973
c) 1993
d) 2009
Which type of soil contains high amount of pebbles?
a) Khadar
b) Bangar
c) red
d) Laterite

By which name in the black soil is also known as ?
a)  Alluvial sail



15.

16.

17.

18.

19.

20.

21.

22.

23.

b) R
c) YR
d) R
GeRaT ST U1 fohet J1o ¥ fere & 2
a) U et
b) 3
c) TR
d ¥ae

a) WRER WK GRIAREATH
b)  WRIST AT URITST IF
c) RezufaemTd
d) el uRaesT &y
STt [h9T TR T HTerT 872
a) SFEBRUNT
b) PHH
c) TEPRUNT
d) T IPE TS

HciepT BT ISTHIT &+ T &2

a)
b)
c)
d)

Fhe

JfooTam ¥ SaF 6T rETey foheHT wfcrere &2
a 57

58

59

60

o O T

)
)
)
)

fFrfaRaa® ¥ o9 A 21k Haet o & U &7

a) f3remm

b) X

c) P

d) <Ry
fhetenuT T 872

a)  Ud 8Ter H o1fch BT PHraldwuor

b)  TAFRI TRBRI BT 9Tk T AR

c) P AT Y Ak BT BRI

d) AT IRGRI DY A BT HR BRAT
AR & AR AT FRT A TR bl 7T DT & HRUT AT
&2

a) 3Mfie BT
b) WRGPRID TR TS R
c) UfrERie FHRoT
d) wimfers Rerfy

e ATehelifAc TRPR DI e (AT ar &2

b)
c)
d)

New Alluvial soil
Black soil
Old Alluvial soil

In which state in Sundarban National Park situated?

a)
b)
c)
d)

West Bengal
Asam

Gujrat
Meghalaya

Narmada Bachao Andolan is related to?

a)
b)
c)
d)

Sardar Sarovar project

The Bhakra-Nangal Project
The Rihand Project

Tehri Dam Project

What type of resource is water?

Nom-renewable

Artificial

Renewable
None of these

The State Religion of SriLanka is?

a) lIslam
b) Hinduism
c)  Christianity
d)  Buddhism
What percentage of Dutch Population isin Belgium?
a) 57
b) 58
c) 59
d) 60

Which of the following power is vested only with the Central Government?

a)
b)
c)
d)

Education
Defense
Agriculture
Health

What is Decentralization?

a.
b.
b)
a.

What is the main reason for the demand of more autonomy by the

Concentration of power in one hand
Distribution of power to local governments
Transfer of power from Center to states
Reduction of power of local government.

northeastern states of India?

a)

o O T

)
)
)

Economic backwardness

Cultural and Linguistic Difference
Historical reasons

Geographical location

What is the main feature of a democratic government?



24

25.

26.

27.

28.

29.

30.

a) afh T Brsiawr

b) aftral &1 qereaur

c) IR ATUBRT BT FRE0T
d) SRIE Tt

FfeRaad & B IR Afder= &1 Ueh UraE &, foria
29 T THFCT Y IgTar &7 &2

a) Concentration of power

b) Separation of power

c) Protection of individual rights
d) all of the above

Which of the following is a provision of the Indian constitution that aims to
promote gender equality?

a)  SFTBT 14
b) e 15
c) 3BT 16
d) T 21
IR s TR &7 A5 872
a) RERCECINCIERIEED
b) Ry 3fR Fefer
c) TYH, Arepeliiep, e FIRuer 3k Ty
d) RSGERC IS BRI EEICH
I Jec gatic o1 ey fbey ST 87
a) el
b) HRd
c) &
d) Sicder
ST eI Sl T T B ST 87
a)  TE SR
b)  mgHfr
c) NS
d)  SIRuIfeTedT
ISR TRET 3R o o] fepa T2
a) 2005
b) 2004
c) 2003
d) 2006
SepT T 3T T T I AT 82
a) REIK
b) Equ)
c) STHT
d) ERuSEIEEE
T BT JAfRIBR TR el qTRaT febaT TaT?
a) 2005
b) 2006
c) 2007
d) 2008

a) Article-14
b) Article-15
c) Article-16
d) Article-21

What type of state is India?

a) Sovereign and Democratic

b) Secular and Federal

c) Sovereign, Democratic, secular and federal
d) Monarchial and authoritarian

To which country is the Green Belt Movement related?

a) Nepal

b) India

c) Kenya

d) SriLanka

Who gives recognition to political parties?

a) Election commission
b) President
c) Parliament
d) Judiciary
In which year was the Employment Guarantee Scheme, implemented?
a) 2005
b) 2004
c) 2003
d) 2006
What is the main source of income for banks?
a) Withdrawal
b) Borrowing
c) Deposits
d) None of the above
When was the Right to information (RTI) act passed ?
a) 2005
b) 2006
c) 2007
d) 2008



3ifer ST SRR T4 |

Very short answer type question.
31. SCaTS & 3T T IS 572

What do you mean by Nationalism?

32. AISH DHHII BT TS AT faiT T 2T 2

What was the purpose behind the constitution of Simon Commission?

33. 9 T S8 &6 e SSTERT <
Give five examples of Man-Made resources?

34. SENCICRIC I
What is Biodiversity?

35. IR ARD fohey e 82

What is Community Government?

36. ITENHRUT fhy ey 872

What is Urbanization?

37. ufer <afh 3 o/ Bl &2

What is per capita income?

38. IISTR T FIT 37T & ?
What is Market?

oY ITRIF T |
Short type question.

39. Py Srefeczrearell TR Yo ey & T T qui v
What were the effects of World War | on the agricultural economy?

40. ST 8T ¥ e I & qfHepr btz HITg 2

What were the key significances and impacts of the Gutenberg press in print history?

41 . T GRETUT < SURIT T Ui X ?

What are the measures of forest conservation?

42 . e 31T I T IR & 2



What are millets?

43, ANeifeh TRBR ¥ TT T TRIERT Tl STRsT & 2

Why is power sharing necessary in a democratic government?

44 . SO P GRIATT T 82

What are the Negative effects of casteism?

45. YA SARATT & TR Pl T TIE DT 2

Explain the main function of the election commission?

46. Y FAT AT &I /T & ?

What are the benefits of Internet?

S T TS |

Long answer type question.

47, ST UehlenRuT Y UfhaT T auf N 2

Describe the integration process of Germany in details?

48. 1920 ¥ FETHT Ml GRT Y bV Y SRAGANT SHfeIerT b Fecd 3R THT T Py )

Analyze the significance and impact of the Non-Cooperation movement launched by Mahatma Gandhi in 19207

49, TgSe el aRRISITaN 6T et BT =T & R & Faf 7 T THIGR Jofl BTIRLT BT ISRV T $HD (A1 Tl 3R AT BT o
PN

Explain the role of multipurpose projects in the development of a country. Take the example of the Damodar Valley Corporation (DVC) project
and describe its various components and benefits.

50. e WOR bl ey A a2r g ?
What are the key characteristics of a federal government?
51. e H il Sell Bl qfoepTue B ol <l B 2

Describe the roles and responsibilities of political parties in democracy?

52. TR # UT$ STelTet! A= TebR T b 2T fakeefer fojarur <1
Describe the different types of roadways found in India?
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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI

Session : 2024-2025
MODEL QUESTION PAPER

CLASS -10 SUBJECT — ENGLISH TIME — 03 HOURS FULL MARKS: 80

General Instructions:-

All questions are compulsory.
Candidates should answer in their own words as far as practicable.
Total number of questions is 52.
Question No. 01 to 30 are multiple choice questions, each question has four
options. Select the most appropriate option. Each question carries 01 mark.
e Question numbers 31 to 38 are very short answer questions. Out of which it is
mandatory to answer any 6 questions. Each question carries 02 marks
e Question numbers 39 to 41 carry 5 marks each. Out of which it is mandatory to
answer any 2 questions.
e Question numbers 42 to 44 carry 3 marks each. It is mandatory to answer these
guestions according to the instructions mentioned.
e Question numbers 45 to 49 carry 3 marks each . Out of which it is mandatory to
answer any 3 questions.
e Question numbers 50 to 52 carry 5 marks each. Out of which it is mandatory to
answer any 2 questions.

Read the passage given below carefully and choose the correct options to answer
the questions.

The Power of Habit

Habit is a powerful force in our lives. It shapes how we act and think, often without us even
realising it. From brushing our teeth in the morning to the way we respond to challenges, habits
dictate much of our behaviour. Some habits, such as eating healthy or exercising regularly,
can be positive and contribute to a better life. Others, like smoking or procrastinating, can have
negative consequences.

The good news is that habits can be changed. Research shows that it takes about 21 days to
form a new habit, but it requires persistence and a clear goal. Repeating a positive behaviour
consistently helps train the brain to associate that behaviour with rewards, making it easier to
continue.

However, breaking bad habits can be more difficult. It requires self-awareness, motivation,
and support. A key strategy is replacing a negative habit with a positive one. For example,
instead of smoking, a person can take up jogging or drinking water when the urge strikes.
Over time, the brain rewires itself, and the new habit becomes easier to maintain.

Understanding the power of habits is essential for personal growth. By cultivating good habits
and replacing bad ones, we can create the life we want to live.

1. What is the central idea of the passage?

A) Habits shape our behaviour and can be both positive and negative.
B) Bad habits are difficult to break and should be ignored.

C) Developing good habits has no impact on personal growth.



D) Habit formation requires little effort and is quick.

2. How long does it take to form a new habit, according to the passage?
A) 7 days

B) 21 days

C) 30 days

D) 40 days

3. What is the key to forming a new habit, according to the passage?
A) Repeating the behaviour consistently and associating it with rewards.
B) Seeking external help from experts.

C) Reading books about habits.

D) Trying to form multiple habits at once.

4. According to the passage, what is the most difficult part of breaking a bad habit?
A) Being aware of the habit.

B) Finding a new habit to replace it with.

C) ldentifying the rewards associated with the habit.

D) Getting support from others.

5. What does the passage suggest as a strategy to replace anegative habit?
A) Ignoring the negative habit.

B) Repeating the negative habit until it fades away.

C) Replacing the negative habit with a positive one.

D) Trying to reduce the negative habit gradually.

6. What is a synonym for the word "persistence" as used in the passage?
A) Patience

B) Consistency

C) Laziness

D) Weakness

7. Why is it important to understand the power of habits, according to the passage?
A) It helps in managing time better.

B) It plays a crucial role in personal growth and goal achievement.

C) It allows us to avoid bad habits altogether.

D) It makes us perfect in all aspects of life.

8. What is the effect of developing good habits, based on the passage?
A) It can lead to a better life.

B) It has no effect on personal growth.

C) It makes us perfect and flawless.

D) It results in a lack of motivation.

Choose the most appropriate option and answer the following questions:

9. The indirect speech of .. Radha said to me, “ | will help you today”.
(a) she told me that she would help me that day.

(b) Radha told me that she would help me that day.

(c) He told me that he wants to help

(d) None of these

10. The indirect speech of. — Reeta said” | was playing”.

(a) Reeta told that she had been playing.

(b) Reeta said that she was playing.

(c) Reeta told that she was playing



(d) None of these.

Ml Living here since 2004 .

(a) has been

(b) have been

(c)am

(d) was

12. ... The best win.

(a) May (b) Must (c) can (d) Might

13. You ....... get up early.

(a) can (b) could (c) must (d) Might

14. “We have been playing for two hours”. is an example of :-
(a) present continuous Tense (b) present perfect continuous tense (c) Past continuous
Tense (d) Future continuous Tense

15. lwishl ......... been rich

(a) have (b) had (c) has (d) none

16. Change into negative sentence. “ Always speak the truth”.
(a) Never tell a lie (b) Always not speak the truth (c) dont speak truth (d) None of these

Read the passage given below and choose the correct option to answer the questions:

Coorg or Kodagu, the smallest district of Karnataka, is home to evergreen rainforests, spices
and coffee plantations. Evergreen rainforests cover 30% of this district. During the monsoons,
it pours enough to keep many visitors away. The season of joy commences from September
and continues till March. The weather is perfect, with some showers thrown in for good
measure. The air breathes invigorating coffee. Coffee estates and colonial bungalows stand
tucked under the tree canopies in prime corners.

17. Whatis Coorg or Kodagu?
(a) A district of Karnataka (b) a district of Jharkhand (c) a foreign country(d) a district of
foreign country

18. What is the second name of Coorg ?
(a) Karnataka (b) Jharkhand (c) district (d) Kodagu

19. Why is Coorg famous for?
(a) Coffee, rainforest (b) coffee, rainforest, spices (c) coffee(d) none of them

Choose the correct option and answer the following questions.
20. Where did Lencho live?
(a) On the crest of a low hill (b) at the bottom of the hill ¢. In the cemented house (d) in the

cornfield

21. Who wrote the poem ‘fire and ice’?
(a) Robert Frost (b) Leslie Norris(c) John berryman (d) None of these

22. Whatis the name of Nelson Mandela's daughter?
(a) Dinani (b) Zenani (c) Sidha (d) Anna

23. The baker from Goa was called.
(a) Pader (b) Daper (c) Rader (d) None of these

24. Who passes near the water hole?



(a) Tiger (b) crow (c) deer (d) bear

25. Who was Kitty?
(a) Anne’s diary (b) Anne’s mother (c) Anne's sister (d) Both (a) and (b)

26. How many times did the Baker come everyday?
(a) Once a day (b) twice a day (c) thrice a day (d) five times a day.

27. What did the doctor in the story “ A Triumph of surgery” advise ?
(a) Cut his food (b) give him more exercise. (c) Keep him on a very strict diet (d) All of these

28. How much was the necklace actually worth?
(a) Forty thousand francs (b) Thirty six thousand francs(c) five hundred francs(d) free of
cost.

29. Griffin was rathera ........... Person.
(a) Lawless person (b) brilliant scientist (c) Engineer (d) both a and b

30. Sherry was the name of......
(a) A servant (d) both aand b (c) television (d) all of the above

Reading section

Read the passage carefully and answer any six of the following questions. 6x2 =12
The Benefits of Reading Books

Reading books is one of the most beneficial habits one can develop. It expands knowledge,
improves vocabulary and enhances concentration. When we read, we expose ourselves to
new ideas, cultures and perspectives. Books can take us to different worlds, teach us valuable
lessons and help us understand complex concepts. Apart from increasing our intellectual
capacity, reading also improves imagination and creativity. It can be a great stress reliever,
offering an escape from the daily pressures of life. In today’s digital age, where people often
prefer screen time, reading a good book allows for a deeper, more focused experience.
Whether it is fiction or non fiction, reading books is an activity that offers lifelong benefits.

31 What is the main idea of the paragraph?

A) Reading books improves intellectual ability and offers various benefits.
B) Books are a source of entertainment only.

C) People should stop using digital devices.

D) Reading is a waste of time.

32. According to the paragraph, how does reading affect vocabulary?
A) It decreases vocabulary.

B) It has no effect on vocabulary.

C) It improves vocabulary.

D) It makes vocabulary less useful.

33. What does reading help us understand, as mentioned in the passage?
34. What is one of the benefits of reading mentioned in the passage?
(35) Complete the following :

(a) Reading books is one of the most

(b) In today’s digital age .
(36) Make sentences with the following words. (a) Non-fiction(b) Intellectual
(37) Write the synonym of given words. (a) improve (b) capacity




(38) write the antonym of given words. (a) stress (b) different.

Writing section

Answer any two questions in about 80-100 words: 2x5=10

39. Write a letter to your uncle and thank him for the beautiful birthday gift he has presented
you.

40. Write an application to the Headmaster of your school and request him to arrange
computer learning facility in the school.

41. Write a paragraph on “ Importance of Trees” OR “Health is wealth”

Grammar section

42. Fill in the blanks with suitable Modals given below (Can, Could, Must). 3x1=3

(a) We respect our country
(b) | make a presentation.
(©1 run a bicycle as a child .

43. Transform the following sentences as directed :- 3x1 =3
(@) “You are too lazy to work” : (Remove 'too')

(b) “He has cheated me. “ (Change into Interrogative)

(c) “Who will not respect his father” ? (Change into Assertive)

Literature Section Marks :22
44. Read the extract given below and answer the questions that follow : 3x1=3

He stalks in his vivid stripes

The few steps of his cage,

On pads of velvet quiet,

In his quiet rage.

Questions :

(a) From which poem this extract has been taken ?

(b) Who has written these lines ?

(C) Whois’ he’ in the following lines?

Answer any three questions in about 60-80 words. 3x3=9

45. Why was the young seagull afraid to fly ?

46. What was Lencho’s main concern? What did he do?

47. Describe some features of the leopard? How do you recognise chameleons?

48. What kind of life Matilda and her husband live after the loss of the diamond necklace ?
49. Who was Horace Danby and what kind of a person was he ?

Answer any two questions in about 120-150 words. 2x5=10
50. Write a character sketch of Bholi.

51. What made Hari Singh come back to Anil.
52. How did Mr. Herriot cure Tricki?



Answer key :
class 10, subject: English

1 A) Habits shape our behavior and can be both positive and negative.
. B) 21 days

. A) Repeating the behavior consistently and associating it with rewards.
. B) Finding a new habit to replace it with.

. C) Replacing the negative habit with a positive one.

6. B) Consistency

7. B) It plays a crucial role in personal growth and goal achievement.
8. A) It can lead to a better life.

. (b) Radha told me that she would help me that day.

10. (a) Reeta told that she had been playing.

11. (b) have been

12. (a) May

13. (c) must

14. (b) present perfect continuous tense.

15. (b) had

16. (a) Never tell a lie

17. (a) A district of Karnataka

18. (d) Kodagu

19. (b) coffee, rainforest, spices

20. (a) On the crest of a low hill

21. (a) Robert Frost

22. (b) Zenani

23. (a) Pader

24. (c) deer

25. (a) Anne’s diary

26. (b) twice a day

27. (d) All of these

28. c) five hundred francs

29. (d) both aand b

30. (d) both aand b
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FREUS Sfere SRUT Ga ufRreror uRwe, <1
q1ftep ScxHIfSUC URIET (2024- 2025)
ufcaeef U3 93 IModel Question Paper

F&T- 10 fawr- 37g fa=mer/Home Science HAY- 3 9T quITeh- 70

Instructions / fadr:
1. All questions are compulsory. Candidates must answer questions in their own words wherever possible.
| T T9T 3ifAare 81 RIS TUTAHT 391 56! H IR G /|
2. The question paper is divided into four sections: Group-A, Group-B, Group-C,and Group-D./ ¥97 5
TR GHE! H [QHTIST 8 T 37, GHe &, THg- &, 3N THe &/
3. The total number of questionsis 48. / o7 gl &1 HEAT48 &/
4. Marking Scheme / 3% J157=1r:
I. Group-A: 25 objective questions, each carrying 1 mark. No negative marking for wrong answers.
| FHE-3T: 25 FEGIASS J3, oA 1 3 3 81 T1elcd IR @ [elv $ls ABNIHF 3boT a]
8am/
II. Group-B: 9 questions, each carrying 1 mark. Answer any 7 questions./ H#g- &. 9 5947, gcd# 1
T Fo:7] F 3038
I11. Group-C: 8 questions, each carrying 3 marks. Answer any 6 questions. / #Hg- . 8 457, Jc3d# 3
3 & 816 gl & 3R A&
IV. Group-D: 6 questions, each carrying 5 marks. Answer any 4 questions. / HHg- G- 6 597, g6 5
HFF 814 ol F IR aA S/
5. If there is any discrepancy in the Hindi translation of the questions, the English version will prevail. /

Tfer go:) @ foal 3iaqara # i fadata &) dl At FEF T Hle3 G177/

GROUP - A ( HHg-3)
Objective Type Question ( TEAS TeeT)

"While advertising, manufacturers often exaggerate the features of their products.” Which malpractice of the

manufacturer is shown in this statement? / "faraTae & ER1eT, fAATAT 31T 3r9er Tl Y faerwansit &\
TOT-TFTHT QAU FIQ &1 30 FI1 & AT A w7 A FeER weRa - &2

(A) Charging excessive price / e Hed ayelel

(B) Adulteration in goods / a3t 7 fAemae

(C) Giving misleading information / 81137 STTTRTY =11

(D) Lack of product standardization / 3cUTE & ATThIHIOT Y HHY

Which of the following cognitive abilities starts developing in a 4 to 6 years old child? /4 & 6 a§ & T=a &




fArafaf@a # ¥ #ia @ TAETcAS a7 RAHfd g1 derd &2

(A) Reduced egocentrism / TeH-Figaara &Y

(B) Conservation ability / TI&TOT 87T

(C) Egocentrism / 3TeH - feaar

(D) Differentiating between living and non-living / shifaa 3itx fAsfta & sraw Fwar

Which emotional characteristic is common in children aged 8 to 10 years? /8 & 10 & &Y 3T & Toal &
1T | HTGATcHS 0T AT 87

(A) Forming imaginary friends / &Tedferss &= aaATeIT

(B) Ability to control impulses / 3aa & fafra #3ar Y avear

(C) Inability to hide emotions / #TE=TI3MT &Y GuTet 3 rHFHLAT

(D) Transitory and unpredictable emotions / €T 3R 3raeaTfAT stTa=Tw

Food that is altered in a way that makes it harmful to health is called: | T AT, mwsa?ﬁ
W e 7E @ F e AT §F RvgfReRs & s FTFea &

(A\) Organic food / St sitster

(B) Unsafe food / 3R faYe sitstel

(C) Processed food / THTIAC $itster

(D) Contaminated food / §f¥rer $¥ster

Which of the following attributes help in identifying stains on fabric? / IS 9 &TT Y Ig=TT FIat &
frafaf@a & @ #la-3 or wers a1 82

(A) Colour, smell, and texture / 33T, 3rer, 3R F=iTae

(B) Colour, taste, and appearance / 3T, ¥4T1g, X &9

(C) Smell, shape, and feel / 3rer, 3R, AT Tk

(D) Colour, shape, and texture / 3T, 3T, 31X Teae

"Adolescents prioritize their friends and spend more time with them." This is an example of which type of

development? / "fReNT 379eY EXFdT T IrUfAFHAT & § 31 31 Ty st gaw fard §1"gg fvw
YR & FahT T 3ETe0r &7

(A) Physical / eI

(B) Language / $T8T

(C) Social / |THTITI®

(D) Cognitive / HATITcHS

Which of the following precautions should be taken while using chemicals to remove stains? / SRTEeT &
T THrEt #71 39Ahr F3d gAY Prafaf@d & & sia-d) gaanfae staHr afge?

(A) Test the chemical on a hidden area of the fabric first / qgﬁa:q?%ﬁsﬂgc%ﬁwmamﬁm
LTy

(B) Apply the chemical from the front side of the fabric / F9S & WTH FT dTH ¥ THAT TN




(C) Use a simple-to-complex process for stain removal / 1T 2T & foT Aol ¥ Ffeer IfHAT 39«10
(D) Always use hot water for rinsing all chemicals / W3 THTI=AT FY &N F Fore gaem a7 qr=i F71 39T
C Ty

Who among the following has the highest energy requirement? / fFafaf@d & @ fFa FaiT A ga@ 31+
JraegH el &7

(A) Rickshaw puller / FXaRIT TTelsh

(B) Teacher / farats

(C) Homemaker / 3yfgrofY
(D) Bank manager / 4 Jeitren

Identify the sedentary worker from the following: / faFifaf@a & @ AFT s FF A ygaTF::
(A) Computer operator / HTIET 3TIEI

(B) Homemaker / 31fgofY

(C) Construction worker / fr#Tor 4T

(D) Athlete / f@eTaY

10.

Which of the following is incorrect regarding kitchen hygiene? / TRYE Taeodl & el § rafaf@a & @
FIT-AT YT AT E?

(A) Surfaces, floors, and walls should be absorbent. / &gl w21, 31X STRY FT a2y T aigw]

(B) No food residue should remain on surfaces to decay. / g I H1§ WTET TAY T3 & forw 7A¢1 s
U

(C) Corners should be kept infection-free. / FYeil Y HFHOT HFed TG ATV

(D) Walls and ceilings must be free from flaking. / € 31X & Srea & e g1+l Tnfzwl

11.

Which is an environmental benefit of using soap over detergents? / f&este ﬁwﬁwwmﬂ
&I BT et AT TGO AT 82

(A) Reduces water's surface tension / qTelt & Y delTd 1 HH FIATE

(B) Effective in both hot and cold water / 33¥ 31X 32 qreit €Y=t & werrelt

(C) Environmentally friendly / 9ot & 3refaer

(D) Combines with hard water minerals / F3 qT=it & @Y & ATY e STaT @

12.

Why is maintaining correct posture while working important? / mmmaﬁgmmmaﬁ
HECAYUT §?

(A) Ensures proper rest/ 3f2rer 3mmer gfaftaa wwarg

(B) Improves focus / &ATeT higd FIATE

(C) Conserves energy / Fa1T &Y a7 HIdT &

(D) Enables multitasking / AeEYCTIEHaT Y HaTH FIAT &

13.

Match the stains given in List | with their corresponding examples in List I1. / g2 | 7 f&@ are grait &7 T
I 7 3oTeh AT 3ETE0N & |1 fAeTT HY




List | (Stains) / F=T | (ET3T) List 11 (Examples) / =T 11

(3CTEI0T)
(a) Animal stains / 9R[ ETaT
(b) Grease stains / fRr=ITS & gTaT (i) Rust marks / 73T & farermsT
(c) Mineral stains / @fersT &TaT (ii) Milk spots / §&r & trear
(d) Vegetable stains / Tesil & &TaT (iii) Tea stains / =TI & &TaT

(iv) Oil patches / deT & tTea

Choose the correct option. / &8r ﬁﬂ»—eqiﬁ'l
(A) a-ii, b-v, c-i, d-iii
(B) a-iv, b-iii, c-ii, d-i
(C) a-iii, b-i, c-iv, d-ii
(D) a-i, b-ii, c-iii, d-iv

141 Match the child's age (in months) in List I with the most suitable toys in List I1. / T | # gea #Y 31y
(FENT ) FTHAT 1 F @ 39T @retal & qrer e wi
List | (Age in months) / =Y | (3 List 11 (Toys) / g 11 (FRRrilet)
AT H) (i) Push-pull toys / ereFpT-@ier f&retlet
(a) 6 months / 6 ATg (i) Wooden block puzzles / eTEY & selle Tgell
(b) 18 months / 18 ATE (iii) Teething rings / gTeT fareheret & forw Rar
(c) 24 months / 24 AT (iv) Plastic gardening sets / CTf¥es & IRTETET A€
(d) 36 months / 36 HATg
Choose the correct option. / &gt e et
(A) a-iv, beii, c-ii, d-i
(B) a-ii, b-iii, c-i, d-ii
(C) a-iil, bi, c-iv, dii
(D) a-i, b-iv, c-iii, d-il
15.

Which of the following precautions must food handlers follow for personal hygiene? / SaTFdITd Fa=&dTl &
foe @ yeus! F Arafaf@a & 9 wla-d@ aaufaa wad aie?

(i) Work with bandaged or injured fingers / T §& IT G 39T A FHTH HIAT

(ii) Avoid wearing rings while handling food / ${¥STeT TetreT & GRTeT 37e[SY o U@t

(iii) Keep hair tied and covered with a cap / aTel} &Y afersT X ¥ &

(iv) Do not sneeze or cough over food / T 9T & IT T 8t

Choose the correct option. / &gl ﬁﬂv—vq?ﬁ'l
(A) (i) and (iv)

(B) (ii) and (iii

(C) (iii) and (i)

(D) (i) and (i)




16.

What factors should be considered when planning meals for preschool children? /Eﬁﬁﬁ'%aﬁﬁ%m
ST FISTAT §iTd AT e R W) TR fFar s afge

(i) Include liquid-based meals / dXer TR iYsteT enfAer #Y

(i) Use finger foods for easy eating / @Tet # 3TATstt & fore fRFIR 3@ #1 39T Y

(iii) Avoid spicy or overly flavored dishes / FHTAEGR AT 3T FATEG aTel cASIeT W

(iv) Make meals visually appealing with colors / $YSTeT &Y T3 & 3Teh¥h F=ITC

Choose the correct option. / &Y ﬁﬂ»—quﬁ'l

(A) (i) and (i)
(B) (ii) and (iii)
(C) (i) and (iv)
(D) (ii) and (iv)

17.

AgarTe FRr3HT Y TeTurer & fore o T IUgE AT SITaT 82 / What is the appropriate time for
breastfeeding newborns?
(A) STeH & I a1e / Immediately after birth

(B) 6 &I &T& / 6 hours after birth
(C) 12 ©IE 91 / 12 hours after birth
(D) 24 ¥ |1 / 24 hours after birth

18.

mefad fEat & fore ey Y smae g ar aAea @ frae 3rf8e g1t &2 / How much more than normal

is the calorie requirement for pregnant women?
(A) 350 et/ 350 calories

(B) 400 &Y/ 400 calories
(C) 450 FFafY / 450 calories
(D) 500 &Y /500 calories

19.

Aerararyr F AR fawra F o avor & aRenfa fFar Srar 82 / Infancy is defined by which stage

of physical development?
(A) STeH & 6 FgIeT d% / From birth to 6 months

(B) ST=H & 1 @¥ dah / From birth to 1 year
(C) A=A & 2 ¥ dah / From birth to 2 years
(D) SI=A & 5 ¥ d% / From birth to 5 years

20.

"ITOTST Talgrsse” 518 @ fohd HgT SATaT 82 / Which of the following is referred to as an “animal

carbohydrate™?

(A) TS ITeT / Glycogen
(B) @@l / Cellulose
(C) 3&F\fesT / Dextrin

(D) d&FYST / Lactose

21.

T \Tg 7 A Y Fe AT wsher wiar fAere fFasirarw @t 82/ What is the heart rate of a newborn baby




in the first month?
(A) 100 ¥ 120 I/ 100 to 120 times

(B) 120 & 140 X/ 120 to 140 times
(C) 140 & 160 ST/ 140 to 160 times
(D) 160 & 180 &R/ 160 to 180 times

22. | Fod Y ATel SATHA FoTC qATd HAT HTT T Fore q0 @F T 82 / People with higher income
primarily spend on what while budgeting?
(A) FarerfraT Sy a&qe / Luxury items
(B) a1 31 TarEew / Education and healthcare
(C) yaftarer fder/ Capital investment
(D) &fa TgegHdTT / Daily essentials
23.
gt 3% e & dffer 3ra frer 3merR o) fanam ST weRaT 82 / Growth and development can be
differentiated on what basis?
(A) AR 31X AATA® gR@dst/ Physical and mental changes
(B) 90TIcA® 3R AETeA® IREd=T / Qualitative and quantitative changes
(C) drcahtfara 31T Ereamfare aRad« / Immediate and long-term changes
(D) safaaera 3y @rnfare gRadst/ Personal and social changes
24. | o7, ey 3R AR T=at & fFE YRR & o1&79T 2 / Fear, anger, and love in children are indicators of which
type of traits?
(A) R ST&TT / Physical traits
(B) |THATIOI® &T9T / Social traits
(C) HAMcHS FA&TUT/ Emotional traits
(D) JATATcHS A&TOT / Cognitive traits
25. | Which of the following is a rich source of Vitamin C?
farafaf@a & & i a1 fefds c#1 wogy aa @7
(A) Milk / T
(B) Lemon / afig
(C) Rice /daTaer
(D) Potato / 3Te]
GROUP -B (W#g- )
Hﬁﬂgﬁﬂﬂ“ﬁ' (VERY SHORT ANSWER TYPE QUESTION)
26. | Sfiaet Y 7T @ F AT FIT-FieT @ Tca 3maeas® &2 / What are the essential elements for sustaining
life?
27. | siYsrer 7 FIT-FIeT A Y9 dca 91T AT &2 / What nutrients are found in food?




28.

3ryoT 34T W#wa&m%?/ What is the difference between undernutrition and malnutrition?

2. | yrepfae waTereT #4187 / What are natural resources?

30. | Ry @ & wTafAw AT FATR? / What is the primary difference between work and play?

3L | fRerfAe A A F#At A FiT-AT Aergrar &2 / Which disease is caused by a deficiency of Vitamin D?

32. | 3raYSreT Y A el F TRSTRT HY1 / Define organization in simple terms.

33. | ErRTRTOT T HE FAT FATE? / What is the right time for vaccination?

34. | FHATSRTOT Y UFFAT FATR? / What is the process of socialization?

Group C (¥Hg-¥9)
Fl'ﬂ'om‘d' 9T (Short Answer Type Question)

35. | qiveres UeTY FT Hgcd FAT &2 3GTEUT ST TISEHY| / What is the importance of a purifier? Explain with
examples.

36. | urfare 3 3R =7 1 Hefetet @ FATE? / How can family income and expenditure be balanced?

37. | gfer 3iix e 3 /T 3T 82 / What s the difference between growth and development?

38. | gara & efter FET st Fore | / Write three main benefits of saving.

39. | @reH vaTyt # fAraTac FY dgaTtst % adie a1 / Explain the methods to detect adulteration in food.

40. | f3este & dfter JyEa 39T frd | / Wrrite three main uses of detergents.

4l | fordlY 3red A9er & ol AT AT / List three characteristics of a good label.

42. | 6-qity a3 g@RT VG 3eaad Al F AT 1 v Y 3R 37 faFacas Agea H AT /
Describe the advanced motor skills exhibited by a 6-year-old child and explain their developmental
significance.

Group - D (9Hg- )
& 39 wesT (Long Answer Type Question)

43. | (a) Suggest any four hygienic practices you would follow during storage of food in the refrigerator at your
home. / 379} B 3 IFFSIYET 3 8YSTeT & HSROT & SRIA TS STTeY el TR Fa<6 HGdl FTHHE |
(b) Enumerate four features of kitchen dustbin. / IT8YE & sFefasT Y TR faehvarsi w1 fod|

4. | g9 G HT 9% IR 16 @I T 3 3@ T / Differentiate between a savings account chegue and
a current account cheque.

45,

Yot AR 3rveaT A & i {ET AT TTSTFI 1 / Explain the main difference between direct and
indirect income.




Felt A Yerelt aAt Y wRfara T@a & 39t ford| / Werite the measures to preserve woolen and silk

clothes.

47.

o Afgol & &feves Tt &1 avter FX1 / Describe the daily tasks of a homemaker.

48.

aRaR & fore w93 @l w7 tare & Qe 5 g ford | / List five points to consider while buying

clothes for the family.

10.

11

12.

13.

14.

15.

16.

17.

18.

ANSWER

Which malpractice of the manufacturer is shown in this statement?

(C) Giving misleading information / 8T8 SATAHTRY 1T

Which of the following cognitive abilities starts developing in a 4 to 6 years old child?
(B) Conservation ability / SI&ToT &THdT

Which emotional characteristic is common in children aged 8 to 10 years?

(B) Ability to control impulses / 3Ta1T &Y A fe I $ &137ar

Food that is altered in a way that makes it harmful to health is called:

(D) Contaminated food / §f¥re &YateT

Which of the following attributes help in identifying stains on fabric?

(A) Colour, smell, and texture / 3T, 3er, 3T IaAT@E

"Adolescents prioritize their friends and spend more time with them."” This is an example of which
type of development?

(C) Social / @THATII®
Which of the following precautions should be taken while using chemicals to remove stains?
(A) Test the chemical on a hidden area of the fabric first / W*@*ﬁf&?m“m?ﬂ

araTor HY

Who among the following has the highest energy requirement?
(A) Rickshaw puller / ferIT aTersr

Identify the sedentary worker from the following:

(A) Computer operator / a-Tl—'EI,\Z'{Bﬁ'TlET

Which of the following is incorrect regarding kitchen hygiene?

(A\) Surfaces, floors, and walls should be absorbent. / Tcgl, ®eT, 3T LAY FI sraenvs BT
Ely

Which is an environmental benefit of using soap over detergents?

(C) Environmentally friendly / Tafaor & 37efder

Why is maintaining correct posture while working important?

(C) Conserves energy / 3T Y §9d HIAT &

Match the stains given in List | with their corresponding examples in List I1:
(A) a-ii, b-iv, c-i, d-iii

Match the child's age (in months) in List | with the most suitable toys in List I1:
(C) a-iii, b-i, c-iv, d-ii

Which of the following precautions must food handlers follow for personal hygiene?
(C) (iii)) and (iv)

What factors should be considered when planning meals for preschool children?
(D) (ii) and (iv)

What is the appropriate time for breastfeeding newborns?

(A) Immediately after birth / ST=-# & Xl a1&

How much more than normal is the calorie requirement for pregnant women?




19.

20.

21.

22.

23.

24,

25.

(A) 350 FFaY/ 350 calories

Infancy is defined by which stage of physical development?

(B) From birth to 1 year / S=H & 1 9§ dh

Which of the following is referred to as an "animal carbohydrate™?
(A) Glycogen / TeITg®IoTeT

What is the heart rate of a newborn baby in the first month?

(C) 140 ¥ 160 91X/ 140 to 160 times

People with higher income primarily spend on what while budgeting?
(A) Frenfar Fr a&qe / Luxury items

Growth and development can be differentiated on what basis?

(B) W&ﬁt ATTCAS IRad / Qualitative and quantitative changes
Fear, anger, and love in children are indicators of which type of traits?
(C) HA9McHS &T9T/ Emotional traits

(B) Lemon / ofiq.




